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"egiven. Ihe choice which you think is correct, fill that

circle in front of that question with Marker or Pen ink in
the answer-book. Cutting or filling two or more circles will

result in zero mark in that question.

_m0ne atm pressure is equal to how many Pascals : .

H

(A) 101325 (B) 10325

(C) 10523 (D) 10235

Oxidation Number of hydrogen in metal hydrides is :
(A) -1 (B) +1

(C) -2 (D) +2

The number of elements in fourth period is :

(A) 8 (B) 10

(C) 18 (D) 32

The volume in cm® of solute. dissolved in 100 grams of
solution is called :

(A) Y%om/m (B) % m/v

(C) % vim (D) % viv

The non-metal which is preseati\grousi% of periodic
table :

(A) Carbor sB8)-Sulphur

(YN

Niie R@S ULII:H iKtate at room
emperatur _
(A) Zinc (B) Sodium

(C) Hydrogen (D) Mercury

Boiling point of sodium chloride is :

(A) 800°C (B) 1013°C

(C) 1213°C - (D)-1413°C

The Scientist who discovered proton :

(A) Chadwick (B) Thomson

(C) Goldstein (D) Bohr

Which one of the following is solid in gas solution :
(A) Smoke in air (B) Butter
(C) Brass (D) Fog
The bond formed due to mutual sharing of electron is
called :
(A) lonic - (B) Covalent
(C) Metallic (D) Coordinate
Who presented law of octaves
(A) Dobereiner ;%‘ Nawlanog
(C) Moseley TDywnciiucieev
Whn,chfﬁme ey, . J is strong electrolyte :
N higati T Ldtion (B) Benzene
(C) Solution of Ca(OH): (D) Solution of NaOH
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